
Joey has 16¢. He bought 1 volleyball  and 1 tennis ball. How much 
does he have left?

Lee bought 2 footballs. How much did she spend?
 

Cassandra has 19¢. She bought 2 basketballs. How much does she 
have left?

 _________ + _________ = __________  and 16 + _________ = __________

 _________ + _________ = __________  and 18 + _________ = __________

 _________ + _________ = __________

 _________ + _________ = __________  and 19 + _________ = _________ 

 _________ + _________ = __________

Ricky bought 2 soccer balls. How much did he spend?
 

Milton has 18¢. He bought 1 basketball and 1 football. How much 
does he have left?

Solve each problem by using the store to fill in the equations.

5¢ 2¢ 1¢ 7¢ 6¢ 3¢

At the Sport Store   
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